YctHas paboTa K YPOKY alreOphl
B 10 xmacce mo teme:

«®@opMynbl CYMMbI U Pa3HOCTH
CUHYCa U KOCUHYyCaY.

NaBneHko O.10.



sin(oc £ ) =smna -cos B tcosa -sinf

cos(ot £ B)=cosa -cosf ! sina -sin f




YNpPOCTUTE BblpaXeHUe:

. 2T T Mgie T
SIN— - COS— + COS— -+ S1In —

15 d 15 d



YNpPOCTUTE BblpaXeHUe:

. T T T . T
SIN— - COS COS— - SIN —
3 12 3 12




YNpPOCTUTE BblpaXeHUe:

7T 7T .t . 7T
COS— - COS S111 — - S1Il —

7 42 7 42




YNpPOCTUTE BblpaXeHUe:

2T 57t 2T . S«
COS— - COS - SIN— - SIN —

7 42 7 42




YNpPOCTUTE BblpaXeHUe:

T 41 T . 4r
S1IN — * COS - COS— - SIn——

7 21 7 21




YNpPOCTUTE BblpaXeHUe:

. 2T T 2T
SINn — - COS COS— - SIN—

d 15 d 15




YNpPOCTUTE BblpaXeHUe:

7T 7T .t . 7T
COS— - COS S111 — - S11l —

R 20 8 20




YNpPOCTUTE BblpaXeHUe:

COS 54m . COS 9N + s1n 54 . S1N 9M



YNpPOCTUTE BblpaXeHUe:

sin12 -C()SISM + coleM -sin18



YNpPOCTUTE BblpaXeHUe:

si11123M : cos33M — c:05123M .SIn 33



